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Edexcel GCSE | qé\
Mathematics (Linear) — IMAO

QUADRATIC
FORMULA

Materials required for examination Items included with question papers
Ruler graduated in centimetres and Nil

millimetres, protractor, compasses.

pen. HB pencil, eraser.

Tracing paper may be used.

Instructions

Use black ink or ball-point pen.

Fill in the boxes at the top of this page with your name, centre number and candidate number.
Answer all questions.

Answer the questions in the spaces provided — there may be more space than you need.
Calculators may be used.

Information

The marks for each question are shown in brackets — use this as a guide as to how much time to
spend on each question.

Questions labelled with an asterisk (*) are ones where the quality of your written communication
will be assessed — you should take particular care on these questions with your spelling, punctuation
and grammar, as well as the clarity of expression.

Advice

Read each question carefully before you start to answer it.
Keep an eye on the time.

Try to answer every question.

Check your answers if you have time at the end



1.

. a2
Solve 3x

+7x—-13=0

Give your solutions correct to 2 decimal places.
a=3 b=7 rCs=}3
x = —bE ¥~ yac
RO
=3+
= =12 J?f Hx3x-13 _ \ﬁgg
2x3 —
-
= 1121963684 4 or -3-552970 77
x = l l 2.,( ............ 01\2“355 ...........
(3 marks)
2. Solve the equation

2%% + 6x—95 =0

Give your solutions correct to 3 significant figures.

A

X

<2 b=G C=-95

-Q*'JE“H&L

L+
= -GSt J79¢

4 ,
33C79G  Oor — % 55336799

H

x ~95)

TTTe———

- 5:5533G799

x= 555 .................... orx= “’855 ............

(3 marks)
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3.  Solve x*+3x-5=0
Give your solutions correct to 4 significant figures.
a=\ b=3 =—5
= —bt Jb’”’— Tola
———
X O
+ . :
= =329~ (4x 1x-5)
ol
- 3% (38
Cl“ X — - 1GASS YO
X e |45 <Y OF
X=F 1493 or = H4:193
(3 marks)
4. Solve this quadratic equation.

g [
x“_bx_g ::::O

Give your answers correct to 3 significant figures.

a=1 b=-5 <Cc=-8

:K==f5i§f§§f(¢xlx~8)

(2,\

(3 marks)




5. (a) Solvex?—2v—1=0

Give your solutions correct to 2 decimal places.
asl pb=-2 C=-|
=2t S (i)
=3t yg

2
- Q-HL2135C2 or 04421356

X =AYl o —0C Y|

.......................................................

(3)
(b) Write down the solutions, correct to 2 decimal places, of 337 —6x—3=0
af 2 <
0 I = 2 q‘ ’ o = O L{' )
)

(5 marks)




(a) Solve x2+x+ 11=14
Give your solutions correct to 3 significant figures.

2

x 4% -3=0

Q=1 b_:l C= =
L ==& ) kxix=3)

S ——

2 -

{
l
|4
5}

x = |-3027715638 Or _9 302779638

....................................................

3)
V= X+ x+11
The value of v is a prime number when x =0, 1, 2 and 3
The following statement is not true.
2 . . , . ’
‘y=x"+x+ 11 is always a prime number when x is an integer
(b) Show that the statement is not true. :
)
ke X210 Yz Q. 21O £
..................................................... j=l52|muwr\p>tqum
Cambe s 119= (3 @)
unber as il

(5 marks)




7. The diagram below shows a 6-sided shape.
All the corners are right angles.
All the measurements are given in centimetres.

2x+1
5 B
X A §
Diagram NOT accurately drawn
The area of the shape is 95 cm-=, Area A = 5 b G

(a)  Show that

2% + 6x—95 =0

Acea. B = X (27 + ,)

- 2
d=3 BsE ee=-98 Ax" + o¢

(b)

(n

X =-bZ ,}b ~Lac ToTAL ﬁf’\éf—\ = Bx + Ax°

SO Ax%451 + ¢ = g5
QJC +(’J)C,_q5:©

Solve the equation

267 + 6y ~95=0

Give your solutions correct to 3 SIgmhcant ﬁguus.

= —Q+ \)5@ w(u QS)

Jﬁqg

=5 B55%3¢7199 or -8 55336717449

......................................

(6 marks)

+ X

(3)

(3)



8.  The diagram below shows a 6-sided shape.

All the corners are right angles.

All measurements are given in centimetres.

(3x—2)

(Zx +5) 5

(3x~12)

The area of the shape is 25 cm-.
(a) Show that 632+ 17x~39=0
Aca A = (@x+5)(3x-2)
=6x" - 42+ 15~ 10O
= Qiz +iloc - | C)
TSTAL OIRER Goc?+ 1loc- 1O + 6x —~ Y4
=6t 4+ 1T — Y4
(b) (1) Solve the equation

_

6x> + 17x~39=0
as=c b=1"]1 c= -39
= L [ T =y T
| &S
or =43

\I, — I5

x=

(i)

(‘&X | ‘5> = 5 == S/

AreCr. D=~ &(fl'ﬁ"l)

Diagram NOT
aceurately drawn

&~

o G+ Mx-lu= 25

6)(2 41 ) x~§b;(_)

...............

Hence work out the length of the longest side of the shape.

S

{7 marks)

“)




9.  The diagram shows a 6-sided shape.

All the corners are right angles.
All the measurements are given in centimetres.

2x—7

3x o [ x4 —

Diagram NOT
accurately drawn

The area of the shape is 85 cm”.

(a) Show that 9x= — 17x — 85 =0
< (A2 + W
A = 3oc(23-T) B = f;f ZHPDL\
= GDC/Z—QIDQ = =
z
Crc?l-Dlx+d3xr +4x =I5
Goc = 1T ~8S=O

(b) (1) Solve 932 —17x-85=0

I

(3)

Give your solutions correct to 3 significant figures.

ch b:‘l_] :‘85

o= 1% 172 [qY=85)

s q,fvafzsz of o= -2'2\105358(&%

o =4

)

(7 marks)




